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Examples for possible Exam questions
in Economics

Please note: 

· At first please check the exam paper: are there XX pages / all pages well readable?

· Please use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 
· You can achieve 60 points – in 60 minutes! => one point is approximately worth one minute; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  

· Permitted are:  Pens, ruler, calculator (without word processing function), language dictionary (only paper) 
· Please do not use a pencil (except in diagrams) nor red pens

· Mobile Phones have to be switched off !
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1 General remarks

These are only examples of how questions might look like, do not expect exactly the same type of questions. 
Also the points are only an example. Of course there are more questions here than will be in the (mid-term) exam, which will consist of 30 points. 

Also the tests, quizzes and additional material on the webpages of the books we use in class (Mankiw, Sloman et. al., Begg & Ward …) as well as the (end of chapter) questions are important hints of what type of questions might occur or how questions might look like. 

( The midterm test in BIM will contain MC Questions !!

2 MC Questions
[Check only ONE answer  –  each question if worth 1.5 points  maximum of 15 points]
i. All the following will cause the demand curve to shift to the left except:


a.
A reduction in income if the good is normal.


b.
An increase in the price of a complementary good.


c.
An increase in the price of a substitute good.


d.
Consumer tastes change, so they no longer want the good.

ii. Government policies designed to promote efficiency:


a.
usually do so at the expense of equity.


b.
tend to cause the economy to grow more slowly.


c.
always fail.


d.
require very high taxes.

iii. Among the fundamental concepts in economics are


a. 
advertising costs of a product.


b. 
opportunity costs.


c. 
effective marketing.


d. 
all of the above

iv. In a market economy, the decisions of what and how much to produce are made by:


a.
voters in elections.


b.
all producers and consumers.


c.
the government only.


d.
non governmental agencies.

v. Even though markets do a great job in organizing economic activity, governments are needed to do all of the following EXCEPT:


a.
establish and enforce property rights.


b.
intervene when markets fail due to externalities.


c.
intervene when markets fail due to market power.


d.
decide what and how much should be produced.

vi. The opportunity cost of producing an extra bread is


a.
the amount of time and ingredients that it takes to produce the bread.


b.
the price charged for the bread.


c.
what must be given up in order to produce the extra bread.


d.
the difference in the price of the bread last year and the price this year.
vii. Suppose that the price elasticity of demand for petrol is 2.0 when suddenly petrol prices increase by 15 percent. The quantity demanded changes by:


a.
15%


b.
20%


c.
30%


d.
10%

viii. When two persons trade goods:


a.
one person always gains at the expense of the other.


b.
both persons usually gain from the exchange.


c.
one person usually gains at the expense of the other.


d.
the overall well-being of the two persons remains unchanged.

ix. An airline's plane from Bremen to Paris is about to take off, but it still has a few seats empty. If the average cost per seat is 250 €, what price should the airline charge passengers in standby to fill in those remaining seats? (Consider that quantitative decisions are made at the margin)

a.
At least 250 €.


b.
Exactly 250 €.


c.
Any price above zero that will entice standby passengers to take the flight.


d.
Slightly less than 250 €.

x. When demand is elastic a __________ in price will lead to a _____________ in total revenue.


a.
Decrease, increase


b.
Decrease, decrease


c.
Increase, increase


d.
Increase, no change

3 Objectives of Economic Policy
[9 points]
3.1 What is the principal objective of any economy? Explain/define this concept briefly.
[3 points]
3.2 Which (sub-) targets have to be taken into account? Name and discuss these in the context of efficiency and equity. 
[6 points]

4 Markets, Efficiency and the Public Interest
[7 points]
4.1 Which types of market failure do you know? Explain/define the concepts.
[4 points]
4.2 Assume that a country had no state education at all. For what reasons might the private education 
system not provide the optimal allocation of resources to and within education?
[3 points]
Virtually all the categories of market failure (except public goods) apply to a free-market system of educational provision.

- In any given area there may oligopolistic collusion to keep fees high.

- There are positive externalities from education: for example, the benefits to other members of society from a well-educated workforce. Thus too few resources would be allocated to education.

- Education can be seen as a merit good: something that the government feels that people are entitled to and should not depend on ability to pay.

- Access to education would depend on parents’ income: this could be argued to be unfair.

- Children would also be dependent on their parents’ willingness to pay. Parents differ in the amount that they care for their children’s welfare.

- Parents and potential students may be ignorant of the precise benefits of particular courses, something that unscrupulous educational establishment might exploit, by pushing the ‘merits’ of their establishment.
5 The invisible hand
[7 points]
5.1 Who invented the metaphor of the “The Invisible Hand of the Marketplace” / approximately when? 
(A metaphor (German: Metapher) is a figurative way to describe something)
[2 points]


Adam Smith in his “An inquiry into the nature and causes of the Wealth of Nations” – 1776


5.2 Describe the meaning of this metaphor. What do we learn from it for economic analysis? 
[5 points]

6 PPF
[12 points]
6.1 Graph and describe a Production Possibility Frontier using an own example of two goods. (What’s the model about, who decides what, what do we learn?)
[6 pt]

6.2 Describe the concepts of opportunity costs and scarcity in this context. 
[3 pt]

6.3 Is the model about efficiency or equity? - Explain why. 
[3 pt]


7 There are (at least) two possible economic systems to aim the prinicipal objective of every economy - which? Describe the basic ideas of the systems and argue why one of them can be called “better” from a theoretical point of view. 
[7 points]

8 Economic Concepts
[11 points]
8.1 Water is necessary for life. Is the marginal benefit of a glass of water large or small?
[4 pt]

8.2 What is productivity and how is it measured? Give an example.
[3 pt]

8.3 Explain the two main causes of market failure and give an example of each. 
[4 pt]


9 Market Demand
[12 points]
9.1 Sketch a typical demand curve and describe in your words (and / or using a demand-function) what the determinants of demand are. Show the “law of demand”
[4 pt]

	
	


9.2 Describe the influences of a) prices of the good itself; b) prices of other substitutes; c) tastes and d) income of the household. Which are exogenous, which are endogenous factors and how do these influence the demand function?
[4 pt]

9.3 Describe the concept of elasticity. Why do we measure elasticities / what do we learn from point of view of business decisions?  (It’s up to you whether you use verbal, graphical or formal descriptions. The basic way to compute an elasticity should be explained)
[4 pt]


10 Basic Problems
[12 points]
10.1 Why do we have to operate economically (what is the basic economic problem to be solved)?
[3 pt]

10.2 Why is it important for managers to understand economics?
[3 pt]

10.3 To achieve the principal objective of maximizing welfare economists distinguish between the Allocation and Distribution target. Describe these in your own words. 
[6 pt]


11 On separate demand and supply diagrams for bread, sketch the effects of the following: (a) a rise in the price of wheat; (b) a rise in the price of butter and margarine; (c) a rise in the price of rice, pasta and potatoes. In each case, state your assumptions. 
(Don’t forget to label graphs and axes!)
[6 points]
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


	12 In a Perfect Competition market you observe the following data: 
[18 points]
price (€)
	demand
	supply

	0
	860
	60

	30
	500
	180

	60
	140
	300


12.1 Derive the demand- and the supply-function. 
[2 p.]
qA = 200 + 100 p

qN = 1000 - 100 p
12.2 Compute the market equilibrium (p* and q*).
[3 p.]
Gleichgewicht:       200 + 200 p  =  1000 - 100 p
(  p* = 4            (GG-Preis)

einsetzen (in qA oder qN ergibt) 
( q* =  600           (GG-Menge)

12.3 Draw these functions in a graph.  Find the market equilibrium.
(Make sure to choose the appropriate scale for both axes - and don’t forget to label them!) 
[5 p.]

12.4 Assume the price would be fixed at 40 €. What would be the result? How do we call a situation like this? Can you find examples?
[4 p]
12.5 Assume the price would be fixed at 80 €. What would be the result? How do we call a situation like this? Can you find examples?
[4 p]

13 A cigarette dealer intends to increase his revenues. He has fixed costs of 15 000 and variable costs of 3.00 per package. Currently 10 000 package are sold at a price of 5.00 Euro. Market research shows that the demand would be 10 500 at a price of 4.50 Euro (or 9 500 package at a price of 5.50 Euro).
[10 points]
a) What is the price elasticity of demand (compute the value)? 
- Is demand elastic or inelastic – why?
- Is this good “normal” – why?
[4 pt]
b) Do you recommend an increase or a decrease of prices? Explain why.
Compute the TR before and after the price change.
[3 points]
c) Sketch a typical demand curve, show the elastic and inelastic parts (label everything clearly!) 
    and explain briefly
[3 points]
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Good Luck !
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